

USP <797> & <800> **Compliant Product Catalog**

888.909.7700 pharma-choice.com 12195 Dearborn Place | Poway, CA 92064



A Hospeco Brands Group Company

OUR CORE VALUES

We at Acute Care Pharmaceuticals vow to bring exceptional service and the highest quality of products to our customers. As one of the premium suppliers of USP 797 & 800 products, we are continuously working toward solutions and products for the benefit of healthcare. In tandem with our expert advice and high-quality products, we deliver exceptional products for you and your team.

Integrity

We take great pride in transparency with our customers. We act in the best interest of the customer so healthcare providers can do what they do best.

Service Excellence

Our responses are swift and thorough. We aim to exceed the expectation of our customers.

Consistency

Our production and sourcing team is nimble to give customers the peace of mind they deserve. We are a reliable and supportive supplier to our customers.

• We are passionate about our industry and our goal is to secure business in a fair and honest manner.

 \cdot We strive to delight our customers with our friendly team and create trust between clients.

• We surround ourselves with individuals who possess an intense work ethic, high moral standards, passion for their work, and a commitment to both internal and external customers.

· We recognize the value of teamwork.



OUR HISTORY

Acute Care was founded in 1998 and was acquired by HOSPECO[®] in 2019. This acquisition helped to motivate the consolidation and creation of what became the Hospeco Brands Group later that same year. Acute Care Pharmaceuticals, with its Pharma-Choice[™] and Protect 800[™] brands, is a leading supplier of compliant, disposable medical products used in compounding pharmacies and other critical environments. All products are compliant with strict regulatory guidelines as required by USP <797> and USP <800>. Our products undergo testing and audits to ensure compliance. This unique dedication to compliance, coupled with its decades-long commitment to partner with hospital pharmacies, makes Acute Care a market leader. The company's various sterile disposable products are mandated for use in cleanroom environments. As such, Acute Care enjoys strong market penetration at hospital compounding pharmacies, standalone pharmacies, infusion, and cancer centers. Popular products include wipers, sterile alcohol, gloves, mop covers, and CAT kits. As part of the Hospeco Brands Group, Acute Care and Pharma-Choice[™] brand are available to a range of customers with or without their GPO contract.

OUR MISSION

Acute Care Pharmaceuticals aims to be the USP 797 & 800 supplier of choice for healthcare. We exist to educate, support, and produce high quality products that are accessible to all healthcare providers. Our attention to detail and customer service has brought us to where we are now, at the forefront of healthcare with you

TABLE OF CONTENTS

CLEANROOM SUPPLIES

Dry Wipers	3-7	GPO/IDN
Wipe Dispensers	7	CONTRACTS
Pre-Saturated Wipers	8-10	• APCI
Hazardous Drug Control		 Asembia
Chemo Neutralizing Wipes	11	Ascension
Chemo/HD Spill Kit	12	 AvMedical Fairview Pharmacy
Chemotherapy Transport Bags	13	• Failview Fhannacy Services
Disinfectants and Cleaners	14-19	• GeriMed
Mops and Mop Covers	20-24	HealthTrust (HPG)
HD Preparation/Administration Mats	25	• MHA
Paper and Notes	26	Northside Hospital
Empty Sterile IV Bags	26	System • Premier
Fluid Transfer Sets	27	Vizient
Hand Cleaning	27	
Tacky Mats and Frames	28-29	
Tacky Rollers and Handles	30	
Environmental Testing Plates and Kits	31	
IV Seals	32	

CLEANROOM APPAREL

Apparel	33-35
Lab Coats and Coveralls	33-34
Isolation Gowns	35
Sterile Apparel	36-41
PPE (Personal Protective Equipment)	42-47
Gloves and Glove Liners	42-44
Shoe Covers	45
Bouffant Caps	46-47
Face Masks	46
Beard Covers	46
USP <800>Supplies	48
Chemo Gowns	40-41
Isolator Micromop	49
Facemasks	50

DRY WIPERS Sterile

Pharma-Wipe Sterile™



Pharma-Wipe Sterile[™] wipers are ISO Class 5, low endotoxin, non-woven, non-shedding, 45% polyester / 55% cellulose blended wipers. The combination of polyester and cellulose provides excellent durability, absorption and cleanliness. Our non-shedding, low-particulate, all-purpose wiper can be used throughout your cleanroom and critical areas for cleaning, spill control and the wiping down of products. Available in 9″ x 9″ and 12″ x 12″.

••••••	······	
PRODUCT #	PW5S797 and PWP5S797-12	
MANUFACTURER	Acute Care Pharmaceuticals	
DESCRIPTION	Polyester/Cellulose Wipers, Low Endotoxin, ISO Class 5	
SIZE	9" x 9" and 12" x 12"	
QUANTITY	PW5S797 (9" x 9"): 25/bag x 72 bags/case	Total: 1,800
	PWP5S797-12 (12" x 12"): 25/bag x 6 bags/pk x 7 pks/case	Total: 1,050

DRY WIPERS Non-Sterile

Pharma-Wipe Plus™



Pharma-Wipe Plus[™] wipers are a low endotoxin, ISO Class 5 compatible, non-sterile, non-woven, 45% polyester / 55% cellulose blended 9" x 9" wiper. The combination of polyester and cellulose provides excellent durability, absorption and cleanliness. Our non-shedding, low-particulate, all-purpose wiper can be used throughout your cleanroom for cleaning, spill control and the wiping down of products.

•••••••	
PRODUCT #	PWP5NS797
MANUFACTURER	Acute Care Pharmaceuticals
DESCRIPTION	Polyester/Cellulose Wipers, Low Endotoxin, ISO Class 5
SIZE	9" x 9" & 12" x 12"
QUANTITY	300/bag x 12 bags/case Total: 3,600

DRY WIPERS Non-Sterile

Pharma-Wipe[™]



Pharma-Wipe wipers are ISO Class 5, non-sterile, non-woven, 45% polyester /55% cellulose blended wipers. The combonation of polyester and cellulose provides excelent durability, absorption and cleanliness. Our non-shedding, low particulate, all purpose wiper can be used throughout your cleanroom for cleaning, spill control and the wiping down of products. Available in 4" x 4" and 12" x 12".

	· · · · · · · · · · · · · · · · · · ·
PRODUCT #	PW5NS797-12 and PW5NS797-44
MANUFACTURER	Acute Care Pharmaceuticals
DESCRIPTION	Polyester/Cellulose Wipers, Low Endotoxin, ISO Class 5
SIZE	4" x 4" & 12" X12"
QUANTITY	PW5NS797-44 (4" x 4") 300 wipers/bag x 24 bags/case Total: 7,200
	PW5NS797-12 (12" x 12"): 150/bag x 10 bags/case Total: 1,500

DRY WIPERS Non-Sterile

Pharma-Polyester Wipe[™]



Pharma-Polyester Wipes[™] have laser sealed edges for particulate control and are manufactured in an ISO Class 4 environment. They are made from a continuous filament, double-knit, non-shedding 100% polyester. They are designed to be an all-purpose wiper for use in your cleanroom and barrier isolator. Pharma-Polyester Wipes[™] are a superior application wiper for use with cleaners.

•••••		•••••	
PRODUCT #	PPW5NS797		
MANUFACTURER	Acute Care Pharmaceutical	S	
DESCRIPTION	Polyester Wipe, 100% Polyester		
SIZE	$9'' \times 9''$		
QUANTITY	150/bag x 10 bags/case	Total: 1,500	

DRY WIPERS Sterile

PRODUCT #	MANUFACTURER	DESCRIPTION	SIZE	QUANTITY
PW5S797	Acute Care Pharmaceuticals	Sterile Wipe Poly/Ce- Ilulose ISO Class 5	$9'' \times 9''$	150/bag, 10 bags/cs QTY: 1,500
PWP5S797-12	Acute Care Pharmaceuticals	Sterile Wipe Poly/Ce- Ilulose ISO Class 5	12" x 12"	150/bag, 10 bags/cs QTY: 1,500

DRY WIPERS Non-Sterile

.....

PRODUCT #	MANUFACTURER	DESCRIPTION	SIZE	QUANTITY
8-7435P1-6-P01	Acute Care Pharmaceuticals	Disposable Cleanroom Grade Wiper Roll, Poly/Cellulose	9″ x 16.5″	50sht/roll x 40 rolls/cs
PWCR-69	Acute Care Pharmaceuticals	Disposable Cleanroom Grade Wiper Roll, Poly/Cellulose	6" × 9"	100 sheets/roll x 48 rolls/case QTY: 4,800
GE-NT1-99	High Tech Conversions	Grab-EEZ Wipe Refills, GE-NT1-99, Nonwo- ven Poly/Cellulose Cleanroom Wipes.	9"×9"	250 wipers/bag, 12 bags/case

WIPE DISPENSERS

PRODUCT #	MANUFACTURER	DESCRIPTION	SIZE	QUANTITY
6-AG35000	Jofel	Mini Center-Pull Wiper Dispenser	Fits 6" x 8.5" or 9" x 16.5"	1
WDL-99 PETG*	S-Curve Technology	9" x 9" Wiper Dispenser with Lid, 1/4" PETG Material	9" x 9" x 9.5" x 9.5"	1
WDNL-99 PETG*	S-Curve Technology	9" x 9" Wiper Dispenser No Lid, 1/4" PETG Material	9" x 9" x 9.5" x 9.5"	1
WDL-125 PETG*	S-Curve Technology	12" x 12" Wiper Dispenser with Lid, 1/4" PETG Material	12.5" x 9.5" x 12.5"	1
WDNL-125 PETG*	S-Curve Technology	12" x 12" Wiper Dispenser No Lid, 1/4" PETG Material	12.5" x 9.5" x 12.5"	1
WDL-99	S-Curve Technology	9" x 9" Wiper Dispenser with Lid, 1/4" Clear Acrylic	9" x 9" x 9.5" x 9.5"	1
WDNL-99	S-Curve Technology	9" x 9" Wiper Dispenser No Lid, 1/4" Clear Acrylic	9" × 9" × 9.5" × 9.5"	1
WDL-125	S-Curve Technology	12" x 12" Wiper Dispenser with Lid, 1/4" Clear Acrylic	12.5" x 9.5" x 12.5"	1
WDNL-125	S-Curve Technology	12" x 12" Wiper Dispenser No Lid, 1/4" Clear Acrylic	12.5" x 9.5" x 12.5"	1
GE-DISP-99	High Tech Conversions	Grab-EEZ Wipe Dispenser, Sold Indi- vidually. For use w/GE-NT1-99	-	1

*PETG Dispensers are Alcohol Safe for cleaning.

PRE-SATURATED WIPERS Sterile

Pharma-Sat Plus™



Pharma-Sat Plus[™] wipers are pre-saturated with 70% Isopropyl Alcohol and 30% USP WFI. Pharma-Sat Plus[™] wipers are low endotoxin, ISO Class 5 compatible, non-woven, 45% polyester/55% cellulose blended wipers that are sterile. Our economical, non-shedding, pre-saturated wipers can be used throughout your cleanroom for cleaning, spill control and the wiping down of products. Available in 9″ x 9″ and 9″ x 11″.

PRODUCT #	PSPW5VS797 and PSPW5IR-11	
MANUFACTURER	Acute Care Pharmaceuticals	
DESCRIPTION	Validated Sterile, Pre-Saturated Polyester/Cellulo	se Wipers
	70% IPA/ 30% USP WFI, Low Endotoxin	
SIZE	9" x 9" and 9" x 11"	
QUANTITY	PSPW5VS797 (9" x 9"): 30/pk x 27 pks/case	Total: 810
	PSPW5IR-11 (9" x 11"): 50/pk x 24 pks/case	Total: 1,200

PRE-SATURATED WIPERS Non-Sterile

Pharma-Sat Plus™



Pharma-Sat Plus[™] wipers are pre-saturated with 70% Isopropyl Alcohol and 30% USP WFI. Pharma-Sat Plus[™] wipers are low endotoxin, ISO Class 5, non-woven, 45% polyester / 55% cellulose blended wipers that are non-sterile. Our economical, non-shedding, pre-saturated wipers can be used throughout your cleanroom for cleaning, spill control and wiping down of products. Available in a 9″ x 11″ wiper, and a 6″ x 9″ wiper in a canister

PRODUCT #	PSPW5NS-11 and PSC5NS797	
MANUFACTURER	Acute Care Pharmaceuticals	
DESCRIPTION	Non-Sterile, Pre-Saturated Polyester/Cellulose Wipers	
	70% IPA/ 30% USP WFI, Low Endotoxin	
SIZE	9" x 11" and 6" x 8.5" (Canister)	
QUANTITY	PSPW5NS-11: (9" x 11") 50/pk x 24 pks/case	Total: 1,200
	PSC5NS797 (Canister): 100/can x 12 cans/case	Total: 1,200

PRE-SATURATED WIPERS Sterile

PRODUCT #	MANUFACTURER	DESCRIPTION	SIZE	QUANTITY
PSPW5VS797	Acute Care Pharmaceuticals	Sterile , Pre-Saturated Poly/Cellulose Wiper, 70% IPA / 30% Purified Water.	9" × 9"	30/pouch x 27 pou- ches/case QTY: 810
PSPW5IR-11	Acute Care Pharmaceuticals	Sterile , Pre-Saturated Poly/Cellulose Wiper, 70% IPA / 30% Purified Water.	9″×11″	50/pouch x 24/pouches/case QTY: 1,200
VEL-10 12x12 S 3014	Veltek	HYPO-CHLOR WIPE Sterile Pre-Sat with Hydrogen Peroxide 3%	12" x 12"	20/Pouch x 10/pouches/case
VEL-10 12x12 S 3016	Veltek	HYPO-CHLOR WIPE Sterile Pre-Sat with Hydrogen Peroxide 6%	12" x 12"	20/Pouch x 10/pouches/case
VEL-9 12x12 S 3018	Veltek	HYPO-CHLOR WIPE Sterile Pre-Sat with Sodium Hypochlorite 0.52% ratio	12" x 12"	20/pk x 10pks/case QTY: 200
VEL-9 12x12 S 3020	Veltek	HYPO-CHLOR WIPE Sterile Pre-Sat with Sodium Hypochlorite 0.25% ratio	12" x 12"	20/pk x 10pks/case QTY: 200
VEL-9 12x12 S 3025	Veltek	HYPO-CHLOR WIPE Sterile Pre-Sat with Sodium Hypochlorite 5.25% ratio	12" x 12"	20/pk x 5pks/case QTY: 100

PRE-SATURATED WIPERS Non-Sterile

PRODUCT #	MANUFACTURER	DESCRIPTION	SIZE	QUANTITY
PSPW5NS-11	Acute Care Pharmaceuticals	Non-Sterile, Pre-Saturated Wiper, 70% IPA / 30% Purified Water, Non-Woven Poly/Cellulose	9″ x 11″	40/pk x 18 pks/cs QTY: 720
PSG797	Acute Care Pharmaceuticals	2 Step Chemo Cleaning and Neutrali- zing Application for Chemo spills	9"×9"	15 Dual packs/Box
PSC5NS797	Acute Care Pharmaceuticals	Non-Sterile, Pre-Saturated Wiper, 70% IPA / 30% Purified Water, Non-Woven Poly/Cellulose	6" x 8.5"	100 Wipes / Canister x 12 Canisters / Case QTY 1,200

HAZARDOUS DRUG CONTROL



Pharma-Surface Guard[®]

Ensure that all HD spills are safely handled with Pharma-Surface Guard[®], a two-step process designed to clean spills without causing oxidation on stainless steel surfaces. It also cleans and deactivates most chemotherapy drugs and other HDs on work surfaces. Pharma-Surface Guard[®] is the first stainless steel cleaner / chemo neutralizer kit made with ISO Class 5 cleanroom non-shedding wipers making it USP <797> and USP <800> compatible.

.....

••••••		• • • • • • • • • • • • • • • • • • • •
PRODUCT #	PSG797	
MANUFACTURER	Acute Care Pharmac	euticals
DESCRIPTION	Non-Sterile, Chemo S	Spill Wiper + Neutralizing Wiper, 2 Steps
SIZE	$9'' \times 9''$	
QUANTITY	15/pks per box	Total: 15

CHEMO/HD SPILL KIT

.....



Protect800 Chemotherapy / Hazardous Drug (HD) spill kit for use on spills for any HD drug. The Spill Kit has everything you need to clean up a HD spill from receiving and compounding to transport and drug administration areas. This ALL-IN-ONE kit has everything you need for a fast and easy HD spill cleanup.

FEATURES

PRODUCT # MANUFACTURER DESCRIPTION CONTENTS: HDSK800-GU

Acute Care Pharmaceuticals

.....

Chemotherapy / Hazardous Drug Spill Kit

- USP <800> certified PPE for one person
- \cdot RxCarbonTM poly-backed pads that absorb and deactivate HD's
- Proper HD waste bags for all spill kit contents
- Detailed instructions and incident report form

CHEMOTHERAPY TRANSPORT BAGS

PRODUCT #	MANUFACTURER	DESCRIPTION	QUANTITY
9216	Action Health	Chemotherapy Transport Bags, Heavy-Duty 4MIL, Reclosable Bags, Clear, 6" x 9"	500/cs
9217	Action Health	Chemotherapy Transport Bags, Heavy-Duty 4MIL, Reclosable Bags, Clear. 9" x 12"	500/cs
9218	Action Health	Chemotherapy Transport Bags, Heavy-Duty 4MIL, Reclosable Bags, Clear, 12" x 15"	500/cs
Z60902A	Action Health	Econo-Zip Amber Reclosable Bag, Protects Light Sensitive Content, 2MIL, 6" x 9"	1,000/cs
Z901202A	Action Health	Econo-Zip Amber Reclosable Bag, Protects Light Sensitive Content, 2MIL, 9" x 12"	1,000/cs
A0406HZ	Action Health	Hazardous Drug Bag, 4 MIL, Reclosable, Yellow/ Blank Print, 4" x 6"	1,000/cs
A0609HZ	Action Health	Hazardous Drug Bag, 4 MIL, Reclosable, Yellow/ Blank Print, 6" x 9"	1,000/cs
A0912HZ	Action Health	Hazardous Drug Bag, 4 MIL, Reclosable, Yellow/ Blank Print, 9" x 12"	1,000/cs
A1215HZ	Action Health	Hazardous Drug Bag, 4 MIL, Reclosable, Yellow/ Blank Print, 12" x 15"	1,000/cs





Pharma-Hol[®]



Pharma-Hol[®] is 70% IPA / 30% USP WFI and is validated sterile. It is available in 16 and 32 oz spray bottles, 16 oz flip-tops, and gallon containers. Sterile Alcohol is the only product mentioned in the USP 797 regulation. Pharma-Hol[®] removes many surface contaminants and can be used for wiping down gloved hands, vials, equipment, counter tops, floors, walls, and more.

••••••	
PRODUCT #	PAS703016797-9, PAS703016797-FT, PAS703032797 and PAS7030G797
MANUFACTURER	Acute Care Pharmaceuticals
DESCRIPTION	Validated Sterile Alcohol, 70% IPA / 30% USP WFI
SIZE	16oz., 32oz. and Gallons
QUANTITY	PAS703016797-9: 9 (16oz. spray bottle) bottles per case
	PAS703016797-FT: 9 (16oz. flip-top) bottles per case
	PAS703032797: 12 (32 oz. spray bottles) bottles per case
	PAS7030G797: 4 (1 gal.) bottles per case

Pharma-D™



*Sterile pour tops available upon request

Pharma-D Surface Disinfectant[™] is an EPA registered, validated sterile, one-step cleaner/disinfectant that is available in 16oz RTU spray bottles. Pharma-D[™] is a quaternary ammonium designed to remove surface contaminants and disinfect hard, non-porous surface areas. It can be used as an additional disinfectant to use in rotation with Pharma-Hol[™], in your cleanroom, glove box, barrier isolators or compounding areas.

nfectant, Virucide, Fungicide



*Sterile pour tops available upon request

Decon-Spore 200 Plus is an EPA registered peracetic acid and hydrogen peroxide solution that is used for a broad spectrum sanitizer, disinfectant, virucide, fungicide, sporicide, cleaner and deodorizer in the hospital and healthcare industries. Decon Spore 200 Plus solution cleans, disinfects, and deodorizes hard, non-porous hospital/medical surfaces in one step with no rinsing required. The product quickly removes dirt, grime, blood, and other organic matter commonly found in hospitals, in healthcare facilities, and on medical surfaces. When used as directed, EPA A.O.A.C testing has demonstrated that Decon-Spore 200 plus kills clostridium difficile spores in 3 minutes.

.....

PRODUCT #	DS200-06-16Z-03 (16OZ), DS200-06-16Z-03 (16OZ), DS200-04A (Gallons)
MANUFACTURER:	Veltek
DESCRIPTION	Sanitizer, Disinfectant, Virucide, Fungicide, & Sporicidal Deodorizer
Size:	1 Gallon and 16oz. Sprayer bottle
PACKAGING:	(4) 1 Gallon bottles (12) 16oz bottle



TexQ®

*Sterile pour tops available upon request

TexQ® Disinfectant is an EPA-registered, one-step disinfectant & cleaner highly effective against a wide spectrum of bacteria, viruses and fungi. It is fragrance free, dye free, and 0.2 micron filtered. Gamma Irradiated and sterile validated according to AAMI guidelines. Tested for the removal of chemotherapy drugs. Testing available upon request.

••••••	•••••••••••••••••••••••••••••••••••••••
PRODUCT #	TX650 22oz. Sprayer & TX652 Gallon
MANUFACTURER	Texwipe
DESCRIPTION	Gamma Irradiated Disinfectant
SIZE	22oz. with sprayer top & Gallon
QUANTITY	12 bottles per case (22oz.) & 4 gallons per case

PRODUCT #	MANUFACTURER	DESCRIPTION	SIZE	QUANTITY
PAS703016797-9	Acute Care Pharmaceuticals	Validated Sterile Cleaner: Sterile 70% IPA/30% USP WFI (16oz.)	16 oz	9 bottles/case
PAS703016797- FT	Acute Care Pharmaceuticals	Validated Sterile Cleaner: Sterile 70% IPA/30% USP WFI (16oz. Flip Top)	16 oz Flip-Top	9 bottles/case
PAS703032797	Acute Care Pharmaceuticals	Validated Sterile Cleaner: Sterile 70% IPA/30% USP WFI (32oz.)	32 oz	12 bottles/case
PAS7030G797	Acute Care Pharmaceuticals	Validated Sterile Cleaner: Sterile 70% IPA/30% USP WFI (1 Gallon)	Gallon	4 bottles/case
SHC-16Z-0.52	Veltek	HYPO-CHLOR [®] @ 0.52% Sodium Hypochlorite, Sterile	16 oz	12 bottle/case
SHC-16Z-5.25	Veltek	HYPO-CHLOR [®] @ 5.25% Sodium Hypochlorite, Sterile	16 oz	12 bottle/case
SPER-02-3	Veltek	STERI-PEROX [®] Hydrogen Peroxide Solution, Sterile 3% Concentration	Gallon	(4)1 Gallon bottles QTY: 4
SPER-16Z-3	Veltek	STERI-PEROX [®] 3% Hydrogen Peroxide Solution, Sterile	16 oz	12 bottle/case
SPER-16Z-6	Veltek	STERI-PEROX [®] 6% Hydrogen Peroxide Solution, Sterile	16 oz	12 bottle/case
STWA-02	Veltek	STERI-WATER [®] Purified Water USP, Sterile	Gallon	(4) 1 Gallon bottles QTY: 4
STWA-16Z	Veltek	STERI-WATER® Purified Water USP, Sterile	16 oz	12 bottle/case
DQ100-04-2Z	Veltek	DECON-QUAT [®] Simple Mix, Sterile	Gallon	(4)1 Gallon bottles QTY: 4
DS200-04A	Veltek	DECON-SPORE® 200 Plus, Simple Mix, Sporicidal Dose, Sterile	Gallon	(4)1 Gallon bottles QTY: 4
DS200-06-16Z-01	Veltek	DECON-SPORE-200 [®] Peracetic Acid, Hydrogen Peroxide, Sporicidal Dose, Simple Mix, Sterile	16 oz	12 bottle/case
DS200-06-16Z-03	Veltek	DECON-SPORE 200 Plus, 16oz trigger spray SimpleMix, Sterile	16 oz	12 bottle/case
PDQUAT797-16	Acute Care Pharmaceuticals	Validated Sterile Quaternary Disinfectant, Virucide, Fungicide	16 oz	12 bottle/case
877587HG32	Total Shield	Total-Shield Plus HG One-step	16 oz	6 bottle/case
877587HG32S		Disinfectant/cleaner		
TX650	Texwipe	TexQ [®] Sterile Disinfectant	22 oz	12 bottle/case

Sphergo Mop



The Sphergo[®] -Swivel is an ergonomic surface cleaning tool that improves working conditions for cleaning critical environments. The mop has a unique ergonomic curved design to prevent worker fatigue and has disposable cleaning pads to clean floors and hard to reach areas. The Sphergo mopping system uses disposable low-linting pads for easy cleaning and disposal.

FEATURES

.....

Product #:	SPH-SWKT Sphergo Swivel™ Starter Kit 1 Aluminum Extension Pole, 1 Aluminum Base, 12 Virtu-Clean™ DC pads, 12 Virtu-Clean™ DCS pads
Product #:	VCU Virtu-Clean™ Universal Disposable Cleaning Pad 5″x19″ 20pads/bg, 12 bgs/master bg - 1 master bg/cs
Product #:	VCDC Virtu-Clean™ DC Disposable Cleaning Pad 5″ x 19″ 20pads/bg, 12 bgs/master bg - 1 master bg/cs
• Product #:	VCDCS Virtu-Clean™ DCS Disposable Cleaning Pad w/Scrubber 5″ x 19″ 20 pads/bg, 12 bgs/master bg - 1 master bg/cs

MOP COVERS Dry

Pharma-Mop Covers™



Pharma-Mop Covers[™] can be used in a controlled environment to remove contaminants from ceilings, floors and walls. Pharma-Mop Covers[™] fit any 8" x 15" mop frame and are designed to maintain a high level of cleanliness without generating additional contamination. They are made from a durable microdenier fabric and compatible with TX7108.

•••••••••••••••••••••••••••••••••••••••	
PRODUCT #	PMC797
MANUFACTURER	Acute Care Pharmaceuticals
	100% Dolyastar Microdopiar Map Coyora Non Chadding Dry
DESCRIPTION	100% Polyester Microdenier Mop Covers, Non-Shedding, Dry
SIZE	8″ x 15″
JIZL	0 × 10
QUANTITY	25/bag x 6 bags/case + 6 pads Total: 150

MOP COVERS Pre-Saturated

Pharma-Sat Mop Covers™



Pharma-Sat Mop Covers[™] are applicable in controlled environments for the purpose of removing contaminants from floors, walls, ceilings and other hard to reach places. Pharma-Sat Mop Covers[™] are pre-saturated with 70% IPA / 30% IPA. Pharma-Sat Mop Covers[™] are 8″ x 15″ and compatible with TX7108.

••••••		• • • • • • • • • • • •
PRODUCT #	PSMC797	
MANUFACTURER	Acute Care Pharmaceuticals	
DESCRIPTION	Non-Sterile Mop Covers, Non-Shedding	
	Pre-Saturated 70% IPA/ 30% DI	
SIZE	8" x 15"	
QUANTITY	25/bag x 4 bags/case + 4 pads	Total: 100

MINI MOP COVERS Dry

Pharma-Mini Mop Covers™



Pharma-Mini Mop Covers[™] can be used in a controlled environment to remove contaminants from barrier isolators, glove boxes, hoods and other hard to reach places. Pharma-Mini Mop Covers[™] fit any 4" x 7" rectangular mop frame and are designed to maintain a high level of cleanliness without generating additional contamination. Compatible with TX7101.

••••••	•••••••••••••••••••••••••••••••••••••••	• • • • • • • • • • • • • •
PRODUCT #	PMMC797-P and PMMC797-PC	
MANUFACTURER	Acute Care Pharmaceuticals	
DESCRIPTION	Non-Sterile, Non-Shedding,	
	PMMC797-P - 100% Polyester	
	PMMC797-PC - 100% Mircodenie	r
SIZE	4" × 7"	
QUANTITY	25/bag x 6 bags/case + 6 pads	Total: 150

MOP COVERS / MINI MOP COVERS

PRODUCT #	MANUFACTURER	DESCRIPTION	SIZE	QUANTITY
PMC797	Acute Care Pharmaceuticals	Pharma-Mop Covers 100 % Polyes- ter Microdenier Mopping System + Foam Pads	8″ x 15″	25 mop covers + 1 pad/ bag, 6 bags/case / 150 Covers, 6 Pads
PSMC797	Acute Care Pharmaceuticals	Pre-Saturated Polyester Mop Covers USP 797 70% IPA/30% Non-Sterile 7" x 15" Poly	7″ x 15″	25/Bag x 4 Bags/cs + 4 pads - QTY 100 + 4 pads
PMMC797-PC	Acute Care Pharmaceuticals	Pharma-Mini Mop Covers Microfiber 80% Polyester / 20% Nylon + Foam pads, 4"x 7"	4" x 7"	25 mop covers + 1 pad/ bag, 6 bags/case / 150 Covers, 6 Pads
PMMC797-P	Acute Care Pharmaceuticals	Pharma-Mini Mop Covers 100 % Polyester Microdenier + Foam pads, 4"x 7"	4" x 7"	25 mop covers + 1 pad/ bag, 6 bags/case / 150 Covers, 6 Pads
VCU	Hospeco Brands Group	Virtu-Clean DC Disposable Cleaning Pad	5" X 19"	20 pads/bg, 12 bgs/master bg - 1 master bg/cs
VCDC	Hospeco Brands Group	Virtu-Clean DC Disposable Cleaning Pad	5" x 19"	20 pads/bg, 12 bgs/master bg - 1 master bg/cs
VCDS	Hospeco Brands Group	Virtu-Clean DC Disposable Cleaning Pad	5" x 19"	20 pads/bg, 12 bgs/master bg - 1 master bg/cs
TM-QP258-EA	Teknipure	Micro Mop Pads, Quilted Polyester	2.5″ x 8″	24 bag/ pack, 1 Pack
TM-QP258S-EA	Teknipure	Sterile Micro Mop Pads, Quilted Polyester	2.5" x 8"	24 bag/ pack, 1 Pack

MOPS/ISOLATOR CLEANING TOOLS

PRODUCT #	MANUFACTURER	DESCRIPTION	SIZE	QUANTITY
TX7108	Texwipe	Alpha-Mop™ Cleanroom Mop with Fixed Handle and Single Head Frame, 1 Mop/Case	8" x 15" Frame	1 Kit
TX7101	Texwipe	Alpha-Mop™ Isolator Cleaning Tool, 4" x 7" Frame 1 Mop/ Case, 2 Handles (12" x 18") 1 Foam Pad and 6 Mop Covers	4" x 7" Frame	1 Kit
SPH-SWKT	Hospeco Brands Group	Sphergo Swivel [™] Starter Kit: (1) Aluminum Extension Pole, (1) Aluminum Base, (12) Virtu- Clean [™] DC pads, (12) Virtu-Clean [™] DCS pads	DCS pads	1 Kit
TM-QP258-SS	Teknipure	Stainless Steel Mop Head and Handle	2.5" x 8"	1 Mop Head and Handle

HD PREP & ADMIN MATS

Pharma-Chemo Mat™



Pharma-Chemo Mats[™] are designed for use in your cleanroom, barrier isolator, or glove box during HD compounding. Pharma-Chemo Mats[™] protect your work surface and contain spills with 8.4 ml/gm intrinsic absorbency and 1625 ml/m2 extrinsic absorbency. Quickly and safely remove spills before they spread!

FEATURES

••••••	······································			
PRODUCT #	STERILE: PCMS1611, PCMS2216, PCMS1611-IW, PCMS2216-IW			
	NON-STERILE: PCMNS1611, PCMNS2216			
MANUFACTURER	Acute Care Pharmaceuticals			
DESCRIPTION	Available in Sterile and Non-Sterile, Highly Absorbent, Polyethylene and Fiber Blend			
	Non-Shedding, Non-Porous Backing			
STERILIZATION	Gamma Irradiated			
SIZE	11" x 16" and 16" x 22"			
QUANTITY	PCMS1611 (sterile) 15 mats/bag, 2 bags/box Total: 30			
	PCMS221 (sterile) 10 mats/bag, 5 bags/box Total: 50			
	PCMNS1611, PCMNS2216 50 mats/bag, 4 bags/case liner Total: 200			

***Call for information on our various Testing Equipment availability

MISCELLANEOUS

.....

PAPER AND NOTES

PRODUCT #	MANUFACTURER	DESCRIPTION	SIZE	QUANTITY
PN797	Acute Care Pharmaceuticals	Pharma-Notes™ Cleanroom Sticky Notes, Non-Shedding, White	3" x 3"	100 sheets/pad x 24 pads/cs QTY: 2,400 Notes
PNBCI 8.5x11 2210	Purus International	Spiral Notebook Cleanroom Grade, Latex-Free, College Ruled #28	8.5″ x 11″	100 pgs/book x 10 books/cs QTY: 10
PCIW1082C	Purus International	Cleanroom Paper White #22	8.5" x 11"	2,500 Sheets
PCIW1096C	Purus International	Cleanroom Paper White #28	8.5" x 11"	2,500 Sheets

EMPTY STERILE IV BAGS

PRODUCT #	MANUFACTURER	DESCRIPTION	SIZE	QUANTITY
ACTAMIX0250	Acta Medical	250mL EVA SafeMix Container, Empty, Sterile, Nonpyrogenic Fluid Path, No Natural Rubber latex or DEHP	250mL	50/cs
ACTAMIX0500	Acta Medical	500mL EVA SafeMix Container, Empty, Sterile, Nonpyrogenic Fluid Path, No Natural Rubber latex or DEHP	500mL	50/cs
ACTAMIX1000	Acta Medical	1000mL EVA SafeMix Container, Empty, Sterile, Nonpyrogenic Fluid Path, No Natural Rubber latex or DEHP	1,000mL	50/cs
ACTAMIX2000	Acta Medical	2000mL EVA SafeMix Container, Empty, Sterile, Nonpyrogenic Fluid Path, No Natural Rubber latex or DEHP	2,000mL	50/cs
ACTAMIX3000	Acta Medical	3000mL EVA SafeMix Container, Empty, Sterile, Nonpyrogenic Fluid Path, No Natural Rubber latex or DEHP	3,000mL	50/cs
ACTAMIX4000	Acta Medical	4000mL EVA SafeMix Container, Empty, Sterile, Nonpyrogenic Fluid Path, No Natural Rubber latex or DEHP	4,000mL	50/cs

MISCELLANEOUS

FLUID TRANSFER SETS

.

PRODUCT #	MANUFACTURER	DESCRIPTION	QUANTITY
ACTAPPS-001	Acta Medical	Single Lead Fluid Transfer Set, Vented Inlet Spike and Male Luer Outlet, Sterile	10 sets/box
ACTAPPS-003	Acta Medical	Single Lead Pharmacy Transfer Tubing. Male Luer Intake, Sterile	10 sets/box
ACTAPPS-TRI	Acta Medical	Trifurcated Lead w/ Three Universal Spikes, Male Luer Outlet	10 sets/box
ACTAPST001	Acta Medical	Universal Spike Inlet Male Luer Outlet	10 sets/box

HAND CLEANING

.....

.....

PRODUCT #	MANUFACTURER	DESCRIPTION	SIZE	QUANTITY
371073	Medplus	Scrub Brush Sponge in 4% CHG Solution, w/ nail pick, Red		30 ea/bx, 10 bx/cs
GJ-5485-04	Purell®	Purell® Waterless Alcohol-based, Persistent Activity, Surgical Scrub USP <797> and <800> Compliant	1200 mil	4 Refills
GJ-2785-12	Purell [®]	Purell® Hands-Free Dispenser	1200 mil	1 Dispenser/cs
3M-9204-EA	3M	3M™ Avagard™ Nail Cleaners 9204, White	3″	150/box
3M-9204	ЗМ	3M [™] Avagard [™] Nail Cleaners 9204, White Available by the box.	3″	150/box x 6 boxes per cs
3M-9200	3М	3M [™] Avagard [™] (Chlorhexidine Gluconate 1% Solution and Ethyl Alcohol 61% w/w) Surgical and Healthcare Personnel Hand Antiseptic with Moisturizers. Available by the each.	16.9 fl oz	One 16.9 fl. oz / 500mL wedge bottle
3M-9201	3M	3M™ Avagard™ Wall Bracket and Foot Pump		1 Wall Mount
9228	3M	3M™ Avagard™ Hand Hygiene Dispenser, 500 mL Wall Mount		1 Dispenser

TACKY MATS AND FRAMES



Pharma-Mats[®] are designed to be your first line of defense against contamination. Pharma-Mats[®] can remove up to 99% of foot borne contaminants which are a significant contributor of particles in a cleanroom environment. These tacky mats minimize the amount of contamination that enters a controlled environment by way of shoes, carts and other sources. PTM797 includes a 20" x 38" non-skid portable reusable frame with a 30 layer clear adhesive mat.

PRODUCT #	PTM797
MANUFACTURER	Acute Care Pharmaceuticals
DESCRIPTION	Clear Tacky Mat, Low-Density Polyethylene, Non-Skid Frame
SIZE	18" × 36"
FRAME SIZE	20" × 38"
QUANTITY	One 20" x 38" Frame and one 18" x 36" Mat

TACKY MATS AND FRAMES



REFILLS

MANUFACTURER Acute Care P	harmaceutica	ls
PRODUCT #	SIZE	QUANTITY
PM 1836 34 Blue or White	18" x 36"	30 layers per mat, 4 mats/case = 120 layers
PM 1836 64 Blue or White	18" x 36"	60 layers per mat, 4 mats/case = 240 layers
PM 2436 34 Blue or White	24" x 36"	30 layers per mat, 4 mats/case = 120 layers
PM 2436 64 Blue or White	24" x 36"	60 layers per mat, 4 mats/case = 240 layers
PM 2545 64 HT White Only	25" x 45"	60 layers per mat, 4 mats/case = 240 layers
PM 3636 34 Blue or White	36" x 36"	30 layers per mat, 4 mats/case = 120 layers
PM 3636 64 Blue or White	36" x 36"	60 layers per mat, 4 mats/case = 240 layers
PM 3660 34 Blue or White	36" x 60"	30 layers per mat, 4 mats/case = 120 layers
PM 3660 64 Blue or White	36" x 60"	60 layers per mat, 4 mats/case = 240 layers
PF 2038 01 W 00 Frame	20" × 38"	One Frame (Fits 18" x 36" Mat)
PF 2638 01 W 00 Frame	26" x 38"	One Frame (Fits 24" x 36" Mat)

*Call for other additional sizes of Tacky Mats and Frames

TACKY ROLLERS AND HANDLES



••••••	· · · · · · · · · · · · · · · · · · ·
PRODUCT #	EP-1, PH-18, PR-12, PR-18
MANUFACTURER	Connecticut Cleanroom Connections
DESCRIPTION	Available in: 18" & 12" Clear Tacky Roller, compatible with 3" core rolls
SIZE	18″ & 12″

PRODUCT #	MANUFACTURER	DESCRIPTION	SIZE	QUANTITY
PH-18	Connecticut Clean- room Connections	8″ Wide Roller Handle, Stainless Steel and Plastic	8" Wide	1 Handle
EP-1	Connecticut Clean- room Connections	Extension Handle, Stainless Steel and Plastic	3' - 6'	1 Extension Handle
PR-18	Connecticut Clean- room Connections	Tacky Roller Sheets, White	18" Wide	60 Sheet Roll QTY: 4 rolls/cs
PR-12	Connecticut Clean- room Connections	Tacky Roller Sheets, White	12" Wide	60 Sheet Roll QTY: 4 rolls/cs

ENVIRONMENTAL TESTING PLATES AND KITS

PRODUCT #	MANUFACTURER	DESCRIPTION	QUANTITY
G60	Hardy Diagnostics	Tryptic Soy Agar (TSA) Plates for Passive or Active Air Sampling, 15 x 100 mm, for Cultivation of Bacteria	10 plates/pk
P34	Hardy Diagnostics	Tryptic Soy Agar (TSA) w/ Lecithin and Tween® Contact Plates for Finger-Tip and Surface Monitoring, 15 x 60 mm	10 plates/pk
P36	Hardy Diagnostics	Sabdex (Sabouraud Dextrose) Agar, contact plate with Lok-Tight™ friction lid, Optional Locking Feature	10 plates/pk
H19	Hardy Diagnostics	Tryptic Soy Agar (TSA) Plates for Passive or Active Air Sampling, 15 x 150 mm, for Cultivation of Bacteria	10 plates/pk
P93	Hardy Diagnostics	Malt Extract Agar w/ Lecithin and Tween®, 15 x 60 mm Contact Plates for the Cultivation and Enumeration of Yeast and Molds	10 plates/pk
W28	Hardy Diagnostics	Malt Extract Agar, Air Quality Monitoring Plates for the Cultiva- tion and Enumeration of Yeast and Molds	10 plates/pk
G41	Hardy Diagnostics	Tryptic Soy Agar (TSA) w/ Lecithin and Tween® 80, USP, 15x100mm plate, 20ml fill, Surface Sampling Contact Plates	10 plates/pk
HVB5	Hardy Diagnostics	HardyVal™: Tryptic Soy Broth (TSB) Bag, for USP <797>, 700 ml Fill, 1 Liter	5 bags/kit
HVL1	Hardy Diagnostics	HardyVal™: CSP Low-Risk Level Media Kit Assess the Risk of Microbial Contamination of your CSP's, Certifies One Technician	1 test kit
HVM1	Hardy Diagnostics	HardyVal™: CSP Medium-Risk Level Media Kit Assess the Risk of Microbial Contamination of your CSP's, Comprehensive, Certifies One Technician	1 test kit
HVM2	Hardy Diagnostics	HardyVal™: CSP Medium Risk Level Media Kit, Basic, Recommended for Routine Use in the Monitoring of Aseptic Procedures Used in CSPs, Certifies One Technician	1 test kit
HVH1	Hardy Diagnostics	HardyVal™: CSP High-Risk Level Media Kit Assess the Risk of Microbial Contamination of your CSP's, Comprehensive, Certifies One Technician	1 test kit
HVR1	Hardy Diagnostics	HardyVal™: CSP Random Testing Kit, A Random Test of CSPs to be Performed on Returned I.V. Solutions	5 tests per kit
HVMTK	Hardy Diagnostics	HardyVal™: MTK (Multiple Technician Kit), Verification it for aseptic technique, USP <797> Low and Medium Complexity Levels	5 tests per kit
HVHAZ	Hardy Diagnostics	HardyVal HazDetect Kit, 5x50ml fluorescein powder vials, 5x3ml reconstituted fluorescein septum tubes, by Hardy Diagnostics	5 tests per kit

*** Call for information on our various Testing Equipment availability

ENVIRONMENTAL TESTING PLATES AND KITS



The TRIO.BAS[™] instruments utilize the impaction method of air sampling. The air, passing through an aspirating head, impacts onto the appropriate agar plate that collects bacteria or other organic substances possibly present in the sampled area. All of the air samplers are lightweight, with an antibacterial techno-polymer shockproof body, have a long-lasting battery, and are IP65 protected from dust and water.

••••••	······
FEATURES	
PRODUCT #	BAS153K
MANUFACTURER	Hardy Diagnostics
DESCRIPTION	TRIO.BAS™ MINI Kit, 100 Liters per minute, Petri Plate, with charging cable
PRODUCT TYPE	MINI Impact Air Sampler
COMPATIBILITY	Petri Plate
QUANTITY	One 20" x 38" Frame and one 18" x 36" Mat
ASPIRATION VOL	100 Liters per minute

IV SEALS



.....

PRODUCT #	MANUFACTURER	DESCRIPTION	QUANTITY
Series 10 - 100 through 700*	Winfield Labs	SecurSeal® IV Seals: Series 10, Bag Seals for Baxter Bags	1,000/roll
Series 13 - 100 through 600*	Winfield Labs	SecurSeal® IV Seals: Series 13, 13 mm Vial Tops	1,000/roll
Series 20 - 100 through 700*	Winfield Labs	SecurSeal® IV Seals: Series 20, 20 mm Vial Tops	1,000/roll
Series 28 - 100 through 700*	Winfield Labs	SecurSeal® IV Seals: Series 28, 28 mm Bottle Tops	1,000/roll
Series 30 - 100 through 700*	Winfield Labs	SecurSeal® IV Seals: Series 30, Large Bag Seals	1,000/roll
Series 55 - 100 through 700*	Winfield Labs	SecurSeal® IV Seals: Series 55 for Hospira Bag , Side Injection Port Bags	1,000/roll

APPAREL

Pharma-Coat®



Pharma-Coat[®] disposable cleanroom lab coats are non-shedding, non-woven spunbond polypropylene. Our original Pharma-Coat[®] has elastic wrists (PCOAT797) and our Pharma-Coat[®] Knit Wrist comes with knit wrists and collars (PCOAT797-KW). Available in sizes XS to 5XL.

FEATURES

PRODUCT #	PCOAT797 and PCOAT797-KW
MANUFACTURER	Acute Care Pharmaceuticals
DESCRIPTION	Spunbond Polypropylene, No Pockets, Snaps
	PCOAT797: Elastic Wrists
	PCOAT797-KW: Knit Wrists and Collar
SIZE	S-5XL
QUANTITY	10/bag x 3 bags per case

.....

.....

APPAREL

.....

.....

LAB COATS

.....

.....

PRODUCT #	MANUFACTURER	DESCRIPTION	SIZE	QUANTITY
LC3-WK-SMS	Keystone	SMS (Comfortable 3 Layer Fabric) Splash Resistant, Knit Wrist, 3 Pockets, White or Blue	S-5XL	30
LCO-WE-KG	Keystone	Keyguard: Micro-Porous , Elastic Wrist, No Pockets, White	S-5XL	30
843885NP	Tian's International	Lab Coat Polypropylene Knit Wrist and Collar, No Pockets, White	L-3XL	50
PCOAT797-(Size)	Acute Care Pharmaceu- ticals	Pharma-Coat Lab Coat Polypropylene Elastic Wrist, No Pockets, Snap Front, White	S-5XL	30
PCOAT797-KW- (Size)	Acute Care Pharmaceu- ticals	Pharma-Coat KNIT WRIST Lab Coat Polypro- pylene No Pockets, Snap Front, White	S-5XL	30

COVERALLS

PRODUCT #	MANUFACTURER	DESCRIPTION	SIZE	QUANTITY
CVL-NWP-E	Keystone	PE Laminated Polypropylene , Elastic Wrists and Ankles, White	S-5XL	25
CVL-NW-E	Keystone	Elastic Wrists and Ankles, Collar, Polypropylene , White	S-5XL	25
CVL-NW-B	Keystone	Hood, Boots, Elastic Wrists (Bunny Suit), Polypropylene , White	S-5XL	25
CVL-SMS-E	Keystone	SMS (Comfortable 3 Layer Fabric), Splash Resistant Coveralls	S-5XL	25
210881	Tian's International	Coveralls Polypropylene Elastic Wrists and Ankles, White	XL-4XL	25
200881	Tian's International	Coveralls Polypropylene with Hood and Boots, Elastic Wrists, White	L-4XL	25
210882	Tian's international	Basic Protection Coverall, Elastic Wrist and Ankles.	L-5XL	25

*Additional Sizes Available Upon Request

APPAREL





.

LEVEL 1



ISOLATION GOWNS

PRODUCT #	MANUFACTURER	DESCRIPTION	SIZE	QUANTITY
GISO1YL	Pharma-Choice	Pharma-Choice™ Isolation Gown, Polypropylene, Knit Cuffs, Waist/Neck Ties, Yellow, Level 1	L	5/bag x 10 bags/cs QTY: 50
GISO1YX	Pharma-Choice	Pharma-Choice™ Isolation Gown, Polypropylene, Knit Cuffs, Waist/Neck Ties, Yellow, Level 1	XL	5/bag x 10 bags/cs QTY: 50
GISO1YXX	Pharma-Choice	Pharma-Choice™ Isolation Gown, Polypropylene, Knit Cuffs, Waist/Neck Ties, Yellow, Level 1	2XL	5/bag x 10 bags/cs QTY: 50
GISO2BL	Pharma-Choice	Pharma-Choice™ Isolation Gown, Polypropylene/PE Laminated, Knit Cuffs, Waist/ Neck Ties, Blue, Level 2	L	5/bag x 10 bags/cs QTY: 50
GISO2BX	Pharma-Choice	Pharma-Choice™ Isolation Gown, Polypropylene/PE Laminated, Knit Cuffs, Waist/ Neck Ties, Blue, Level 2	XL	5/bag x 10 bags/cs QTY: 50
GISO2BXX	Pharma-Choice	Pharma-Choice™ Isolation Gown, Polypropylene/PE Laminated, Knit Cuffs, Waist/ Neck Ties, Blue, Level 2	2XL	5/bag x 10 bags/cs QTY: 50



Pharma-Frock

The Pharma-Frock[™] is a sterile, low linting, and all-purpose frock for compounding in the cleanroom. The frock is made from a breathable, polyethylene-coated, polypropylene material. This gown is ISO class 5 compatible with elastic wrists, raised collar, and thumb loops attached. The Pharma-Frock is an ideal choice for compounding where sterile PPE is required. The gown has undergone various amounts of testing to ensure you are receiving a USP 797 compliant cleanroom gown.

PRODUCT #	PFROCK797
MANUFACTURER	Acute Care Pharmaceuticals
DESCRIPTION	Sterile Frock
SIZE	S-4XL
STERILITY	Gamma Irradiated
MATERIAL	Polyethylene Coated Polypropylene



Sterile Frock

These sterile frocks are made of a comfortable fabric that protects against various liquids and particulates. Each frock is individually packaged and sterilized to a 10 sterility assurance level (SAL) preventing workplace contamination and cross-contamination of products or materials. The low-linting fabric helps reduce the release of unwanted particulates in your workspace. Frocks are designed with tunnelized elastic that contains particle shed. Bound seams eliminate raw edges that can also create and release additional particulates. Fabric is tear-resistant and helps keep you cooler than many competitive fabrics.

••••••	•••••••••••••••••••••••••••••••••••••••
PRODUCT #	CE11026CIS
MANUFACTURER	EnviroGuard
DESCRIPTION	Sterile Frock
SIZE	S-4X
STERILITY	Gamma Irradiated
MATERIAL	Proprietary Laminated Non-woven Fabric

Protect800 Chemo Gown



The Protect 800TM Chemo Gown is a sterile, low linting, and impervious gown for compounding chemotherapy & HDs in the cleanroom. The gown is made from a breathable polyethylene coated polypropylene material. This gown is ISO class 5 compatible with elastic wrists, mandarin collar, orange impervious taped seams, front closure, ties in the back, and thumb loops attached.

PRODUCT #	P800CG
MANUFACTURER	Protect800
DESCRIPTION	Sterile White Chemo Gown
SIZE	S-4XL
STERILITY	Gamma Irradiated
MATERIAL	Proprietary Laminated Non-woven Fabric



Sterile Hood

FEATURES

PRODUCT # MANUFACTURER DESCRIPTION SIZE STERILITY MATERIAL

CE11063CIS EnviroGuard **Sterile** Hood Universal Gamma Irradiated Proprietary Laminated Non-woven Fabric



Sterile Boot Covers

PRODUCT #	CE11104CIS-L & XL
MANUFACTURER	EnviroGuard
DESCRIPTION	Sterile White Coverall
	with attached Hood,
	Elastic Wrist and Ankles.
SIZE	Large & Extra Large
STERILITY	Gamma Irradiated
MATERIAL	Proprietary Laminate
	Non-woven Fabric



Sterile Coveralls

FEATURES

PRODUCT # MANUFACTURER DESCRIPTION

SIZE STERILITY MATERIAL CE11019CIS EnviroGuard **Sterile** White Coverall with attached Hood, Elastic Wrist and Ankles. M-5X Gamma Irradiated Proprietary Laminated Non-woven Fabric



Sterile Sleeves

FEATURES

PRODUCT # MANUFACTURER DESCRIPTION SIZE STERILITY MATERIAL

CE11065CIS EnviroGuard **Sterile** Sleeves Universal Gamma Irradiated Proprietary Laminated Non-woven Fabric



Sterile Lab Gown

This Sterile Cleanroom Gown is disposable and composed of 52gsm weight anti-static matrial designed to meet USP 800 requirements. The Gown is breathable with PE/PP and offers Level 3 protection against chemo drugs.

••••••	
PRODUCT #	TCBA40ST
MANUFACTURER	TruCare Biomedix
DESCRIPTION	Sterile Lab Gown
SIZE	Small, Regular, XL, & 3XL
COLOR	White
MATERIAL	Polypropylene



Pharma-Gloves™

Pharma-Glove[™] is an ambidextrous chemo rated glove that is latex-free, powder free, has a 12" cuff and is manufactured specifically for the pharmacy. Pharma-Gloves[™] are validated sterile and individually pair packaged with paperless packaging. They are available in sizes XS-3XL.

	· · · · · · · · · · · · · · · · · · ·	
PRODUCT #	PGNS12 & PGNS12-LTC	
MANUFACTURER	Acute Care Pharmaceuticals	
DESCRIPTION	Validated Sterile, 100% Nitrile Latex-Free, Powe	der Free
	12" Cuff, 5 mil thickness	
STERILIZATION	Gamma Irradiated	
SIZE	XS-3XL	
QUANTITY	PGNS12 - 50 pairs/bag x 4 bags/case	Total: 200 pairs
	PGNS12-LTC - 50 pairs/bag, 2bags/case	Total: 100 pairs



Gloves

Sterile chemo-gloves are your first line of defense against the harmful effects of HD's. Our Protect 800™ chemo gloves are ambidextrous, powder free, and made of nitrile. These gloves are perfect for cancer centers, administration of chemo, handling of HDs, and compounding chemo.

FEATURES

••••••	
PRODUCT #	PROSNCG
MANUFACTURER	Protect800
DESCRIPTION	Sterile, Powder Free
	12" Cuff, 7 mil thickness
SIZE	SM-XL
QUANTITY	50 Pair/Bag, 4 Bags/ Pack, 200 per Case

GLOVES





Featured: Optify, Koda, Enov-8 gloves

PRODUCT #	MANUFACTURER	DESCRIPTION	SIZE	QUANTITY
GL-NCF265BF	ProWorks	OPTIFY Nitrile Pf Exam Glove, Chemo-Fen- tanyl Tested, Low Derma Blue 6.5Mil 10/50	XS-2XL	50/box, 10 boxes/cs QTY: 500 gloves
GL-NCF235BK	ProWorks	KODA Nitrile Pf Exam Glove, Chemo-Fentanyl Tested, Low Derma, Black 10/100	XS-2XL	100/box, 10 boxes/cs QTY: 1,000 gloves
GL-NCF225BF	ProWorks	ENOV-8 Nitrile Pf Exam Glove, Chemo- Fentanyl Tested, Low Derma, Blue 10/100	XS-XL	100/box, 10 boxes/cs QTY: 1,000 gloves
MDS194085-194088	Medline	12" Sterile Aloetouch Gloves, Chemo Tested	S-XL	50pair/box x 4 box/cs QTY: 200 pair
135260 - 135290	IHC	Nitrile Surgical Glove, Sterile, Chemo Tested, Powder-Free	6 - 9	50/box x 4 box/cs QTY: 200 gloves
GLFF	Purus International	Nylon Full-Finger Glove Liner	S-XL	20 pair/bg x 15 bgs/cs QTY: 300 Pair
GLHF	Purus International	Nylon Half-Finger Glove Liner	S-XL	20 pair/bg x 15 bgs/cs QTY: 300 Pair



Pharma-Shoe Covers[™] cover a standard dress shoe or sneaker and are often worn alone in critical environments. Acute Care Pharmaceuticals offers anti-skid sole shoe covers, which are disposable, breathable and light weight. Made up of non-shedding, non-woven, latex free, spunbond polypropylene. Available in large and extra large.

FEATURES

PRODUCT #PSHCV797-L and PSHCV797-XLMANUFACTURERAcute Care PharmaceuticalsDESCRIPTIONSpunbond Polypropylene, Anti-Skid, Non-Shedding, Non-WovenSIZEPSHCV797-L (Large) and PSHCV797-XL (Extra-Large)QUANTITY150 pairs/caseTotal: 300

SHOE COVERS

.....

PRODUCT #	MANUFACTURER	DESCRIPTION	SIZE	QUANTITY
SC-SS	Keystone	Shoe Covers, Super Sticky, Non-Skid Bottom White or Blue	L-XL	150 Pair/cs QTY: 300
SC-CPE	Keystone	Shoe Covers, Light Vinyl, Water Repellant, Coated Polyethylene, Blue	L-XL	150 Pair/cs QTY: 300
514673	Tian's International	Polypropylene Shoe Covers, Anti-Skid, Blue	M-XL	150 Pair/cs QTY: 300
PSHCV797	Acute Care Pharma	Coated Polypropylene Shoe Covers, Skid Free	L-XL	150 Pair/cs QTY: 300

BOUFFANT CAPS

PRODUCT #	MANUFACTURER	DESCRIPTION	SIZE	QUANTITY
PBC797	Acute Care Pharma	Bouffant Cap, White	21″, 24″, 28″	100/bg x 10 bgs/cs QTY: 1,000

FACE MASKS

.....

.....

PRODUCT #	MANUFACTURER	DESCRIPTION	SIZE	QUANTITY
FEL110B	Adenna	Face Mask w/ earloops, 4 fold design, medical grade	Universal	500/cs
40578-RS5	Tian's	Cleanroom face mask	Universal	50 pc/bg, 100 bgs/case

BEARD COVERS

PRODUCT #	MANUFACTURER	DESCRIPTION	SIZE	QUANTITY	
112NWI-WHT-18	Keystone	Latex-Free, Polypropylene Beard Covers, White	18″	100/bg x 10 bgs/cs QTY: 1,000	
112NWI-XL-21	Keystone	Latex-Free, Polypropylene Beard Covers, White	21″	100/bg x 10 bgs/cs QTY: 1,000	

Pharma-Bouffant Cap™



Pharma-Caps[™] are designed to cover your hair to prevent hair shedding during compounding. Made of light weight polypropylene, Pharma-Brand[™] bouffant caps are essential to meeting USP <797> compliance.

FEATURES

PRODUCT # PBC797-21-B or PBC797-21-W PBC797-24-B or PBC797-24-W PBC797-28-B or PBC797-28-W MANUFACTURER Acute Care Pharmaceuticals

.....

DESCRIPTION Spunbond Polypropylene, Blue or White

SIZE PCB797-21 (21") or PCB797-24 (24")

QUANTITY 100/bag x 10 bags per case Total: 1,000

USP <800> Supplies

.....

CHEMO GOWNS: STERILE & NON-STERILE

PRODUCT #	MANUFACTURER	DESCRIPTION	SIZE	QUANTITY	
815775	Tian's International	Coated Barrier Gown, tunnelized Elastic Wrist, Individually Packed	S-XL	1 pc/bag, 30 bags/case liner	
816851TS	Tian's International	Cleanroom Chemo Gown Latex-Free, Coated, Non-Shedding, White	S-3XL	10/bg x 3bgs/cs QTY: 30	
TCBA54ST	TrueCare	Sterile Cleanroom Gown, Chemo Tested, Velcro closure, sealed seams	S - 3XL	1/bg x 50/cs QTY: 50	
TCBACV54ST	TrueCare	Sterile Cleanroom Coveralls w/hood and attached PP+PE Laminated Boots	S - 3XL	1/bg x 50/cs QTY: 50	

GOGGLES

.....

PRODUCT #	MANUFACTURER	DESCRIPTION	SIZE	QUANTITY
A-50B-NS	Benchmark	Cleanroom Goggles, Non-Sterile, Fogless, Single Use with Direct Ventilation	Universal	1pc/bag x 50/cs
A-50B-IR	Benchmark	Cleanroom Goggles, Sterile, Fogless, Single Use with Direct Ventilation	Universal	1pc/bag x 50/cs

.....

STERILE GARMENTS

.....

PRODUCT #	MANUFACTURER	DESCRIPTION	SIZE	QUANTITY
TCBA40ST	True Care	Anti-Static Cleanroom Gown, Low Linting, Latex free, with Thumb loops	SM-3X	50 per Case

ISOLATOR MICROMOP

MicroMop



2.5" x 8" Ergonomic Swivel-Head Stainless Steel MicroMop with adjustable handle. Available in Sterile and Non-Sterile options.

.

••••••

FEATURES

PRODUCT # TM-QP258, TM-QP258S, TM-QP258SS

MANUFACTURER	Teknipure
DESCRIPTION	Ergonomic Swivel Head Stainless Steel MicroMop with adjustable handle.
	*Available in Sterile & Non-Sterile options
SIZE	2.5" × 8"
QUANTITY	TM-QP258: Micro Mop, Quilted Polyester, 2.5" x 8"
	TM-QP258S: Sterile Micro Mop, Quilted Polyester 2.5" x 8"
	TM-QP258SS: Micro Mop Frame & Handle

RESPIRATORY PROTECTION



RESPIRATORS

PRODUCT #	MANUFACTURER	DESCRIPTION	SIZE	QUANTITY
0024N95	ProWorks	Moldex N95 Plus Nuisance Organic Vapors with Valve	Universal	10/bx QTY: 10
HY7650	ProWorks	Proworks KN95 Mask	Universal	50/bx QTY: 50
HY8812	ProWorks	ProWorks N95 Disposable Particulate Respirator with Valve, Metal nosepiece, NIOSH approved	Universal	10/bx QTY: 10
HY8710	ProWorks	ProWorks N95 Disposable Particulate Respirator, Metal nose piece, NIOSH approved	Universal	20/bx QTY: 20
HY9810-BX	ProWorks	ProWorks N95 Disposable Respirators, Metal-free, NIOSH approved	Universal	20/bx x 2 bx/cs QTY: 40
HY9812-BX	ProWorks	ProWorks Disposable Particulate Respirator with Valve, Metal-free NIOSH approved	Universal	10/bx x 2 bx/cs QTY: 20

ORDER DIRECT

P // 888.909.7700 F // 858.675.9380 E // info@acutecareonline.com Additional Items Available Upon Request **OUR DISTRIBUTION PARTNERS**

CardinalHealth MCKESSON





L-ACP-0132-S_MasterCatalog 11.13.23 SA